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QUESTION 1

What is the difference between the relationships between A and B in diagram (i) and diagram (ii) in the exhibit? 

A. (ii) implies (i) 

B. (i) applies to all instances of A, while (ii) does not 

C. (i) is only permitted if (ii) is also defined 

D. (i) applies to all instances of B, while (ii) does not 

Correct Answer: A 

 

QUESTION 2

What happens to the exception from a Raise Exception Action when used in a model that has no exception parameters
declared? 

A. ignored 

B. appended to an exception log 

C. sent to the "ExceptionManager" object 

D. handled by a default handler 

E. propagated to an enclosing protected node, if any 

Correct Answer: E 

 

QUESTION 3

What is wrong in this deployment diagram exhibit? (Choose two) 
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A. Icons are swapped. 

B. Interface on Order should point up. 

C. arrow should have a dashed line. 

D. arrowhead should be hollow. 

E. arrowhead should be solid. 

Correct Answer: AC 

 

QUESTION 4

In the exhibit, how many links are created by default when an instance of A is created? 

A. two 

B. eight 

C. none 

D. four 

Correct Answer: D 
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QUESTION 5

What can be used when the source of an object flow has values of type Customer, and the target needs the name of the
customer? 

A. transformation 

B. effect 

C. weight 

D. ordering 

E. selection 

F. upper bound 

Correct Answer: A 

 

QUESTION 6

What does the exhibit show? A collaboration_______. 

A. with two roles: Producer and Consumer 

B. occurrence named Supply 

C. with two roles: In and Out 

D. with two role bindings: In and Out 

Correct Answer: C 

 

QUESTION 7

What requirements can an object node make on the kinds of values it has? (Choose two) 

A. state 

B. composition 

C. type 

D. interaction 
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E. properties 

Correct Answer: AC 

 

QUESTION 8

What is NOT true of a transition in a protocol state machine? 

A. may have a postcondition 

B. may have a precondition C. may have multiple associated operation 

D. may have no associated operation 

Correct Answer: C 

 

QUESTION 9

In the exhibit, at which levels are the DeploymentSpecifications? 

A. DeployA = spec level, DeployB = instance level 

B. DeployA = spec level, DeployB = spec level 

C. DeployA = instance level, DeployB = spec level 

D. DeployA = instance level, DeployB = instance level 

Correct Answer: A 

 

QUESTION 10

If an action has a behavior with three sets of parameters, how many of the sets can provide output for a single execution
of the behavior? 

A. one 

B. three 

C. any number 
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D. two 

Correct Answer: A 

 

QUESTION 11

An Instance Specification acquires which characteristics in the Deployments package? (Choose two) 

A. can be a DeploymentTarget in all cases 

B. cannot be either a DeployedTarget or a DeployedArtifact 

C. can be a DeployedArtifact only if it is an instance specification of an Artifact 

D. can be a DeploymentTarget only if it is an instance specification of a Node 

E. can be a DeployedArtifact in all cases 

Correct Answer: CD 

 

QUESTION 12

What determines which value an object flow edge chooses to move from the source? (Choose two) 

A. transformation 

B. upper bound 

C. ordering 

D. effect 

E. weight 

F. selection 

Correct Answer: DF 

 

QUESTION 13

What happens to the exception from a Raise Exception Action when used in a model that has no exception parameters
declared? 

A. sent to the "ExceptionManager" object 

B. appended to an exception log 

C. handled by a default handler 

D. propagated to an enclosing protected node, if any 
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E. ignored 

Correct Answer: D 

 

QUESTION 14

What is true about an information flow? 

A. requires that a relationship (dependency, association, connector, etc.) does not exist between sources and targets 

B. defines the order in which information is exchanged 

C. may directly indicate a concrete element such as a class, and is conveyed instead of using an information item 

D. requires that a relationship (dependency, association, connector, etc.) exists between sources and targets 

Correct Answer: C 

 

QUESTION 15

What standard UML stereotype best captures a component\\'s ability to represent larger-scale features of a data
processing installation? 

A.  

B.  

C.  

D.  

E.  

Correct Answer: B 
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